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@ sin32°=0.52
O cos34°=0.83
© tan36°=0.73
® 2sin42°=1.34
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2= Afel(sin) | FAFQl(cos) | EHHIE (tan)
31° 0.51 0.86 0.60
32° 0.52 0.85 0.62
33° 0.54 0.84 0.65
34° 0.56 0.83 0.67
35° 0.57 0.82 0.70
36° 0.59 0.81 0.73
37° 0.60 0.80 0.75
38° 0.62 0.79 0.78
39° 0.63 0.78 0.81
40° 0.64 0.77 0.84
41° 0.66 0.75 0.87
42° 0.67 0.74 0.90
43° 0.68 0.73 0,93
44° 0.69 0.72 0.97
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44° 0.6947 | 0,7193 | 0.9657
45° 0,7071 | 0,7071 | 1,0000
46° 0.7193 | 0,6947 | 1,0355
47° 0.7314 | 0,6820 | 1,0724
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a3 sin z cos tan z
438° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1.0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
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